B
7

—
J
=

_+_
!

linll

—13.50—

1
] auipll
R 3 H—1,1010.02
™ 3.9010.05 %
O 4
™ =
ST i S
H—= lLusg
=g 14.01 000
5 14,92_3%
1
d
1.

m__ 90
4 o P R ==
R AT R R i
108 M nwa
5
96
PCBAR 214 52 i
oo Yy,
nwn.ﬂn_ 84
P - 88
T ,
‘___% 3 b WiH | BEEAR | B ] M Bt
N T 0 O | wmim | 1 PAGG G
_ Q |@#mbx | 1 POK S
| " w//L Q | wasttn | 1 POM T
3934005 o @ | womE | 1 | roH
14,01+3.95 w| Al LT \ AR 5
N\\ & O | TR 1 GPPS E
24 @ T B 1 PC R )
b C @ | Sk 1 GPPS B
® | wren | 2 [mwmms| e
0 i - GiH |  s%aK SRR
P ©) iR JE 30+ 5g
The o ) (o mm 50+5
(€) fil 2 W 7 T
(@) fih 2 A7 2.0+0. 5mm
&) ST 3.6%0. 5mm
©® TAEH A 80, 000, 0007%
k= >
1403601004 ARTIRA
INS
=]
kg | A% X HeocEs | &4 (4. AL H mm..ﬂ.m_wmbl‘_
Wit |2 | CEAR) [hRdeik| ) |GEAR) | WrBoRic | EE | pry e
H % it 1:1 . .
- . — FR R 5
T nE | o= SIS 3




